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00 75 (1pt) 00000000 R"0000000000000
00000000000000000000.
00 2.5 (X,0)00000000

e J0JDDDACXO,A=X000000,A0 XO00000O (dense) 000000.

e 10 XUODOOUDDOOOOUDODOOOUODOOO,X0OOO (separableyDOOOOO.
00 76 (1pt) OOOU0O0OO0OOR*O0OO0OOOOOOOO.

OO0 77 (1pt) 0O0O0O0OO0O0OODOOOOOOUOOOOO.

gboogobooboobooboob,gboobooboobon.

00 78 (1pt) OOOOUOOOOUOOOO,0000COUOUOOOOUDOOOOUODOOOD.

ooboooboooobooobooboooboooboooboooooOoobo. oobooooooboooo
oooooo.

00 79 (1pt) 0000 (X,0x)0 (Y,0y)00000000,20000000000.0000
0000000000,000000000000000

00 80 (1pt) 0000 (X,0x)0 (Y,0y)00000000,20000000000.0000
00000000,0000000000000



